3N
T Jg.

X SRR E

2005 CHANGKAOYICUODIANXINGSHITI

A
W esxFzREamN I

B 45 EF R
| WL R A
W 2004 XF] 38 EXHEF L8

AR A R L AR




2 55 18 5 W

—RRRERANEEHHBEFT P RIG—ARARETR! REFALFL
BRAHR, AARRATH L TRBR KFRBAER, T IR HALAT
A, ML, RREEAFAZRIT . ERATHAKRE, ELMERTE
NG, AR, RFTRXRAEFXGFERENART - RETSTHKTELAH
MR R R CHRATR PSS ERMOTHIEISERYE,

ARFHEEEZE.

LVATEHEAZAERTRANGHATR SNEABE—B#h2ETH
ARMES W R EHMET , ABE BB KRR FFHE T A5,

2. ANERYEARERTRNFAEAELHARGRASE, THEHAE
EMA I AR IME N EE R ORE TR ARG S F B TR
LRF RO TS, FHARABDERAFTATAARAL, RE MAFABGA,
FIMe Rk, B EEH, FRAEE, XEEEH MEA ARLE H35R
BNBAED B, KT RRE R, X BRERT ,ABFRA,ETFT,H
R, ERPTREHELREARBAR AESEH, AL ERE AL LFHLR
FEAHE,

3.HAMMANSH D ERF R AL, FRFLHLX SR, ERTHZF
AbAPd— B FEINERERS,

4 AFREFEA  KAFHES AL THM, EMOIETHXAHSWHRELHE
AR NGRARG , EFRTH, THEOERZFTHHALAELE,

SABLEEARE(mp3)ABFREEA, MEAFLRAKSPHESLI #o
AE TR A!

'..q'_

H

O
2004 £ 10 H



= =

B FHREOWTRERREETG oo (1)

W DU e e (5)
1. AT TARERGZFEREL4T = ..................................... (5)
2. bFEHFEME B 4 BRAEER K cooreeerererenn i (7
3. db:%:?ﬁf&iiﬁ%i%f;#iﬁﬁﬂiﬁﬂ ............................................. (9)
4, TR FERIIEFTRR] coooererrrer (11)
5. AT FEIZE S RFFRD oo (13)
6. T HERAT FHIIEAF L oo (15)
T A FERBETEHREZE —RIEBFA K oo 17)
8. ‘iﬁihz’ﬁﬁ'!}‘] PEEINBRBZEZRBEE (19)
9. HMAEERT 4 A S Z I FHN o (21)
10, BAL EATH ZBEE oo (23)
1. BN FTEEZFEFRE(—) o, viteiteasnetrsnrons e (25)
12. M T HPREILIEFFHRE (D) e (27)
13. FAFTEZE — KRB BPEEE oo (29)
14. IF XM P RRFRME LT HERFFHZH—RREFK o (31)
15. I RM P R RM Y LT HREPFEHEZERBEHR - (33)
16. BT B S BUABUA K orveereerermeseienen, N (35)
17. P — T OGARBEE coovenrermrnre e (37)
18, KA TH PRI L ZRBHFRIK cooeemerrrrmerrremri (39)
19, T FEEBPFEZHIIHFRR v (41)
20. kA LR REAREIFTHPHERIEE —RBEEF Koo (43)
2], R W+ B ES P FBEABMGE oo (45)
2

CRET B P ELIE RS EPARR] e (47)

I




B i

AL T AR B RF TR oo (49)
B R E R T Lt L TR (51)
LB TR A RIEE e (53)
DRI SRR A K, ceeeereeesnee ettt (55)
CRE AT I FRR (D) oeereereererreate e (57)
TR T EEGPEIET oo (59)
TR IR B E A REBIA K e eeeeee et (61)
LR S T SBEA ML ceeeerreeere e (63)
BB TR RIMFFRE, overeerrerereesrriasineaesesaee e, (65)
BB EE P EBRZ R —RBEE e (67)
,,Eiﬁ?F%%’fF-ikﬂ?ﬁ-—}k&m%‘ﬁ .......................................... (69)
DR BT B ZAEBUA T () ceeeeeeeeeeeramre et (71)
Y LT EE TS LS L OO PR (13)
Y O s TR T R Y ¢ I e PR (75)
PR B FRB T HIIEE e e (1)
I T8 o AER . 0F 3 O O (79)
CMEBEM TR R R TRFHER oo (81)
CH B E RO T B EEIIRE e (83)
KSR S I BERRIE, oo e (85)
CAHERMTHZERPB LR AL e (87)
P EBRT P L HEIRIFAEGE, ceveeereerrrereerneaenineraniinereaniaaaa (89)
IR SR R L O P PPN (91)
DA EERTS A B S I TAM e (93)

BEAERBIERE o oveoererrtert e e . (95)

3
.



F—FR FNNBSIFREBRES

TEFRF TR N SREWT S XA LUERIIRAE , R HROE S 57 0 60 SRR AR, 3
FEMELRE b RRRE, ERZ M EEE AN AR, RS NEEE SERESN. EEED. 0N
TEEEE BGOSR, W B ERBRETHE T

W MR EERASE STERR, SRR, WISERESEFEE SRR RPIE
BR b O B BT B ) , S SO AR N R AE IR B A AN N R, B A
HERMIBRNERES, R—FREX AHENT AL, EBEEE&W KR, LA
HERFETHBE T APTS, IR I E XEE T2, A SR B E R .

—. I hBESH

(—)A F7 (Section A)

1. [MREHRY

ANFBHAME—HEE-B—LZR#TH—R—2%, BE-BdLIERNARTE . BEY
LAV B, 3k SRR B BE [0 ) . X[ B RN BFERBIRAIMT

AZRRETHE:

D24 B2 33804 a6 %F, 0.

What is the man’s answer?

What does the woman want for lunch?

What are they talking about?

What kind of -books does the man want to borrow?

2)[E A", -

What does the woman tell the man to do first?

What are the speakers doing now?

What will happen if John fails the exam?

e ag X", m.

What does the man mean(imply)?

What does the woman's answer suggest?

4) (a1 G R REERAG T A f Bl , 10

What can we leamn from the conversation?

What can be concluded from this conversation?

Sy “MEABEEHFLFE", W

What does the man think of Miss Brown?

What does the woman think of the plan?

B\ A TP RI$R th B (R £ B (8] “ X i Al RE R AR AT A AT R AE R, 10

Where does this conversation most probably take place?

Where does this conversation most likely occur?

Where are the man and woman?

C.ATREM] LT JLASF E A9 5L

)R (R RS, 0.

Man(M) : What time did yesterday’s football match start?

Woman( W) ; It was supposed to start at a quarter to 7, but it was delayed an hour.

Question(Q) : When did the game finally start?

2)[REMA 2B ERILUEETRESR) ..

J— 1 J—



W1 thought to go to town now. I have some shopping to do.

M:Don’t spend too much, I won’t get paid until next week.

Q: When will he be paid?

3)EHHA, .

When will the winter vacation begin?

D.[al A, A LAa] B /Y9, 40

Why is the man late?

Why did the man repair the car by himself?

E. 7] RBIR) 33 i & F— 7 B S 4 SR Z BB 5% R B % o R BB R A RO TS,

W:May I help you, Sir?

M:1 hope so. It’s my watch. I brought it in to be repaired, but I’ ve lost the Receipt.

Q:Who is the man?

F.EBE LT 2RI

DS X N ESE AN GETR, .

How did the teacher usually begin his class?

How does the man usually go to work?

2) [ X FE B8 A RS2 A feT ™, 9

How does the man feel about the movie?

How do you like the film?

G.[R“Z" BT REFHE, TREF LT ILAE A

How many persons...?

How many dozens of. . . does. . . want?

How much does. L7

How old is.

How long does it take. . .?

Aﬁﬁ‘]lﬁlﬁﬁ%%ﬂﬂﬁ]ﬁ REETARRU EE%. A FPEREESH—RBERT, |
] fiE B b K R B[R] 4, LA Whom, Whose, Which $210], BT 3T LA _ERIBAAR R B HITHRM .

2. MERNESR

EHHEMBENEDTR, mUﬁTﬁﬁU\TILﬁ#éﬂ:

ARTEE - BEERYATER, .

W: Your library books are due on December 13th. If you have not finished using them by then, you may

renew them once. ’

M: Thank you very much. I only need them for a few days.

Q: When must the man return his books to the library?

BMFR BFEEEMATER, .

W:Do you live in a college dormitory?

M:Yes, I do. It’s a six-man suite, but at the moment only four of us live there.

Q:How many people share the suite now?

CH-X BEERRNMSER, .

M: I need to cash this check.

W: Will you step right over to the teller’s window, please?

Q: Where is the conversation most probably taking place?

D . B &2 ST IEBE N L& not, no, neither, nor % i), 17 but, although F 477, 2 iy
would rather, too. . .to Z5H R BBUES FRE. B, FEHEZEHFIIMUEE. 0.

M: Ann, doyouhaveanyextramneyyoucotﬂdloanme‘?

W: I wish I could help you. I went shopping yesterday. Now I have only two dollars n]l the end of the

week .

_2_



Q: Will the man borrow any money from the woman?

BB E R H E R Noo WX BHERT ZHAE 1 wish I could help you iX — X @IFIE, XA)IERR
MN#EE FEREEA,BHHEEE I'm sory [ can’t help you BIEE,

EAYE . GFEAYMER ANYSHPE, BEWNERE—THY . BRI RHOANEER
HEb. W

M: Good evening, Madam. There is a table for two over there. This way, please.

W:Thank you. Could I see the menu, please?

Q:What’s the relationship between the man and woman?

A)Husband and wife. B)Waiter and customer.

C)Salesman and customer . D)Host and guest.

FEsh 2 X —RREATTH R LR BE T B RERSESHEN. .

W:Are you going to New York next weekend?

M:Yes, I'm going to lock up Bill while I'm there.

Q:What's the man going to do?

B AEXF AR S B LAME OL, BEE W R AR 4 R E BRI 5 #,

3. JURVE AR T

AT RRHEBREE HEHHERT., fTFFTﬁEM“ﬁ@JH‘IV\]&EPﬁE@J S5EFERN AT LHEF
KR4y, Bl P — MR A R E R . B, 76 W B8R o BT S B0 8 [R) iR SR ()
AR EEE(REHELZHRTE), SRENEANERAEN LSRN T EEE, HXH
TR, KR A (PR F & 20 “ what does the man mean?” XHEHEH , Kt S EA DL ND S
B FEBAR FELXEEHBSHHEL, .

W:How do you like the play you saw last night?

M:Well, I should have stayed at home.

Q: What does the man think of the play?

A)It is exciting. B)It is boring.

C)He didn’t see the play. D)He like it very much.

XHE 1 should have stayed at home’ (&ﬁﬁﬁ?&ii)dﬁ%ﬂhﬁwﬂﬁﬂﬁﬁjﬁ ﬁﬁﬁfﬂ
HHRER B R ME )5 8 (should have done something 53X i 454 A FiI DK 22 77 “ X B 6 % 4= i Sk o b
BA RANFIE R RSl ) BB ™ 4 BB R 5 B 28 22 “The play is boring. "(3 i
AANRH),H B RIEMMER., SELBEZEHEBIBSRGESEE WAL BEERE
B, X—VRTEFREEHKES, ZHAFL, 2= MAKFHTE, B, BT A
FESh B ARV B R AR IERE R

(—)B 17 (Section B)

B AN A SV bR . HAR B 150 i, BKH9% 200 37, B A SRERER B AK,
ERETREWEXE MAEES GCEEEWY . BUFHKNERARRREREN, HEXH
XFEXHEE AXRFEANER FLE5RY FHOESRE, AR ERREEXHAETES
HAbRES. KPR, B YMEBEEN B, XERENBYHEES RN ZREEEL([
BEEXHERELWBMBARBRD) FFHERWETUNT A ERKE. M TXEEEH, H
ETEE S I ERERERM S K. BEMATH B 7R, LR TREEE—RF
A T B R A 7 B R L R i )

RN E B AE

T B AT ) B RO AR B R R, T A R, Bk sl X S A B A AR, XD
YT B 1 Bk B i A A AT B

(—)NERETPIE

Q: What does Tom do?

A.He's a truch driver. B. He’s a ship captain. C.He's a pilot.

RERX

—_ 3 —_
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W:Tom flew to Anchorage last night, then took some passengers from there to Dollas.

M: Yeah, but he couldn’t land because the airport in Dollas was snowed in.

MBI, (6] 8 R 2 5 FHR . 77 1 #9), #5 M\ flew, passengers, airport 3X £ {5 8,18 * 7] H1i# Tom
AR

(ZINEIEA RSN

7E A,.B BIART &S, IR B BAFIEB AR, AR Yes”,

“I agree” ,“Sure” ,“I think so" %, B A FHE E4], B FF BRI A “No”, “Neither/Nor. . . "%,
Bt

A:Harvey doesn’t seem to fit into this class.

B:No, he is really a fish out of water.

BRAFENANEFINSHR UL AP B R RIE AR, B M iE 5 5 mEt
A AR R E R 2SR, 0

1. R AiE + £

2. KR IFEANE + ZEGA4) SR (FEH)

ESE + SR BB B

. B + it RLEALE (4 PR B A V)
. ¥aA + A

IR AT R AR SN G

. ZEGAH) 341 (F41)

. ZEGAA) AR + KR GAH)

9. FBF&iA. ﬁfﬁﬂ BAE S iA) (A4

10. 4]

ﬂﬁﬂﬁﬁﬁrﬁﬂﬂﬁ%? AR, BARTT LAY BRI A0 B, (H RGN E S S LB RE |
AEEMER, ARMBREEAHABERMER., B F— %EEﬁIﬁEﬁXHE‘Jﬁﬁﬁﬁo

= WAhHIS

1. BT SR R AES (8], R b 4R A /N T WA R R 5 8., T 4 S el % 5 W] BB
B RBIMAE , B RSP A KR, AR ME , R BB ER R,

2. EEEHEMAE, XLRAEF A HF LXK, EXFREMCERER B P d e A2
HYFEK,

3. BESN BRI EERS. KUTHLSED—EAFRNAFISARARI3)E, XER
(R 22 Ab e £ 0V S S TE R P R L R AR BT G E 5, B E i

4. ERRBARKER, W B CHBEN RN REEE, N EEENREREEFTTER
BIRERE b HEBR BRI, AT IRAAL B, AAEER, LAV E , T H e ,

5. HRTRHE W H 3 SRR BICSUOCERHHER, BT LAV R & e EAE U 4] 15 6
BRI, R R AY (who) 1+ (what) BT 8] (when) (3 A5 (where) . JUEH (why) |
772 (how) . F23 (how long, how soon, how much) 3 (how many/how much) .3%# (which. .. )%, LI{#
BEER,

6. EEITEXHEANER, XEAFENFE B, AR EXAENSEE, WihE E.
FEAR MF SR BERENNE BRAREH%,

7. REWA 2008 BB - EERFEBREAFTHER L, T AR R &8 A J R
BA) b AEN D ERGE, A ERBVEE— A, B E RN RRE KA L, i —A
O S R A R R TR T K

8. RIFRIFMLE, FHREHE I EH 7 U A8 WO AL, MR, — e E R
T#x. BNESBEREZZH", NE TN HBIRIE,

00 ~1 On Lh bW



EoE NG
1 AR AEBXE LRSS A%

B—Y  GES/NEGEMELLS 5, W% T7.54) . '
MR S B iE . BEMEER —NME, NEFR TSR A, B, C APk S B g,
HARERBHMEMALE . TREBIEG ., FEH 10 B i ad 6]k m 25 F &/ MNERMBET —
B, BEXE g,
1. What are they talking about?
A.Driving in England. B. How to drive a car.
C. Whether to have the right to drive a car in England.
2. What does the woman mean? .
A . Mary is ill. . B. Mary thinks well of the concert.
C.She hs no chance to talk to Mary.
3. Does Jane know Arvid Brown?
A.She doesn’t know him. ' B.She knows something about him.
C.She knows him very well.
4. What can we leam from the conversation?
A.They are neighbours. B. They are classmates.
C.They are not from the same country.
5. Where does the conversation probably take place?
A.lIn a clothing store. B. At the woman’s home. C.In the sitting room.,
B 15 /MBS 4,5 22.545))

W 6 BHERM A, SEXHERBARELA/ME, NEFETAH A, B, C = kW
SRR, AR RSN AL B O 5 B 5 B B 6T, ARoK A B 8] BRSNS S
B e SE , &/MEA L 5 R EEE R [E fﬁﬂx‘fﬁﬁaﬂil‘:‘lﬁﬁﬁo
W% 6 Bbi R, MK 6~ 7 4, :

6. What is the man going to do tonight?
A.Come to the woman’s home for dinner. B.Go to aconcert with the woman.
C.Go to a concert with his sister. .
7. What does the man think of the woman?
A.He thinks she is a good cook.
B.He thinks she does everything very quickly.
C.He thinks she isn’t good at cooking.
WS 7 BB, EER 8~ 9 B
8. What is the woman worried about?
A.Mary’s carelessness. B.Bad traffic. C.Mary’s Ling late.
— 5 —




9. What do you know about Mary from this conversation?
A.She is a good driver and always very careful.
B.She is a careless girl. '

C. She likes driving fast.
Wrss 8 Bubbit, [EE S 10~ 12 B,
10. Where will they have dinner that night?

A.In the hotel. B. At the airport. C.In a restaurant nearby.
11. What kind of food are they going to eat? :
A . American food. B. Chinese food. C. French food.
12. How many people will have dinner with the two speakers?
A .Three, B.Four. C.Five.

WS 9 Bk, S 13~ 15 &,
13. Where does the conversation probably take place?

A. At school. B. At home. C.In the office.
14. How many hours will the girl work a day?

A2, B.4. C.6.
15. How much could she get in a week?

A.24 dollars. B. 80 dollars. C.120 dollars,

WrsH 10 Bobbst, M4 16~ 18 &,
16. Why is there no performance?
A.Because the audience want a repayment.
B. Because the actors are sick.
C.Because there is no electricity.
17. When will tickets be exchanged?
* A.This evening. B. Next Tuesday. C. Tomorrow moming.
18. What can’t they do according to the message? '
A. Get their money back.
B. Come to see the performance tornorrow moming.
C. CometoseethepelforlmncemxtTuwlay
WSS 11 BAORL, SR 19 ~ 20 .,
19. Where does the sandwich come from?
A.England. B. America. C.Germany.
20. From the passage we leamn that
A the sandwich has a long history
B.the sandwich was invented by Americans
C. the sandwich is pretty new to us



2. eE TR X = 4 A fFENER

(L 5 /ME; /NI 1.5 5,145 7.5 5)

TS BYiE. BEMEEAE —/ME, NEPREK AB.C =M% BE%R,
HiFERBEWHNAE ., WREBEBHERE , K#A 10 Behnf R BIE A X/ MEM R E T —/MNE,
BERIENE—A '

1. Where is the woman from? .
A. America. B. China. C.Gemnany.

2. What does the woman take in her coffee?
A.Cream and sugar. B.Nothing. C.Sugar.
3. What does the man advise the woman to do?
A.To buy a second bicycle. - B.To buy a used bicycle.

C.To buy a new bicycle.
4. When is the film?

A.7:00. B.7:15. C.7:30.
5. What do we learn from the conversation?

A.They knew each other when they lived in England.

B. Both of them once lived in England.

C.The woman was a student when she lived in England.
WG 15 /ME;B/MNE L5 5 WA 22.55))

W7 6 BxHESA E . FERESRMARE ILAN/ME, MRS TR AB.C =N ERPi%
HEEET AR IR AR AL B . W5 B IE Sk B R, 4R A B 8] B R AN/, BN S
B8 RE, S N/MERS T 5 B REER A, SE AR EMNR,

T3 6 BLpA e, & 58 6 B8 7 8,
6. How much luggage does the woman have?

A.One camera. B.Two bags C.None.
7. What’s the possible relation between the two speakers?
A.Shop assistant and cusiomer. B. Customs officer and traveler.

C. Repaimman and customer.
W 7 Bt EIE M 8 EF OM,

8. Where 1s the woman interested in going?

A.New York. B. Boston. C.New York and Boston.
9. What does the woman think of the first train?
A. Tt will arrive too late. B.The ticket is too expensive.

C. It will leave the next morning.

U5 8 BR AR, [EIESE 10 256 11 8,
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10. Where does the conversation probably take place?

A.In a shop. B. At a tailor’s. C.In a hotel.
11. What time will the man get the clothes?
A. At 9 tomorrow morning. B. At 9:30 tomorrow moming.

C. Before 9 o’ clock tomorrow moming.

WiSE 9 BrbP B, IS 12 B 14 &,

12, What happened to the man?
A.He found his house was broken into. B.He locked himself out.
C.He forgot to lock the front door.

13. When did he lock all the windows?

A.On Saturday. B.On Friday. C.On Friday night.
14. What is the woman most probably going to do?
A.To look round. B.To talk to others. C.To ask more questions.

BrSE 10 BUb, [R5 45 15 288 17 AL,
15. Why can’t the man find Susan’s home?
A . Because he hasn’t been told how to get there.
B. Because he forgot 1o bring the map Susan gave him.
C.Because he is so forgetful that he can’t remember her address.
16. Where is the bank?
A.lt is next to the bus stop. B.It is on the corner beside the bus stop.
C.1It is on the comer across the street.
17. Where is Susan’s house?
A_Tt is the seventh house from the comer on the man’s right.
B.1It is the seventeenth house from the comer on the man’s left.
C.It is the seventeenth house from the comer on the man’s right.
WSS 11 Brbtt, [EESE 18 25 20 &,
18. How many countries did Mr Bell visit last summer?
A.Only one. B.Three. C. Four.
19. Why did Mr Bell feel very tired after returning home?
A_He visited too many places in a hurry.
B. His heliday was not iong enough for him io travel in Europe.
C.He was on the train or on a bus all day long during his holiday.
20. What will be a good idea to spend a two — week summer holiday?
A. Visiting only one city by the sea with a friend.
B. Visiting only a few cities near the sea with some friends.
C. Visiting some museums and famous places in different cities.



3. AL e X = 58 IR 4 )

BT S /MEE/NE .55, %5 7.545))

Wi FE S B, MEMIEEE —A/INE, W T I ALB.C =/ EE0 o i ) B A 6T,
HHEREHHNAE, WREERMNIEE, REE 10 Be K at Rk B&H 2/MNEFIRET — /2
B, BB ENE—E.

1. What will the two speakers do first?
A.Search for the new tie. B.Fix the shelf. C.Paint the shelf.
2. What can we leamn from the conversation?
A.The man can't drive well. B.The car has broken down. C.They are on the wrong way.

3. When does the conversation take place?

A.On Friday. B.On Saturday. C.On Sunday.
4. What’s the relationship between the two speakers?

A. Doctor and patient. B.Husband and wife. C.Teacher and student.
5. What does the man think about the price of the car?

A. Reasonable. B.Too high. " C. Unbelievable.

WG 15 /MNELB/AME 1.5 2, S 2.50)

WF R BT 6 BUMEE M . BB ERE ARG JLA/NE, ABIHR TS AB.C =T bk B
T, FREIRAS AR E . Wr g B 78 sl TR0 , 40K I (8] B 81/ NE, B8 /N 5 #b b
Wrseha , &/ MNEE A 5 B ST, EBTIE S T iERR .

Wrih 6 Bobt R, EIES 6 £ 7 L,
6. Who is the woman?

A. A manager. B. A secretary. C. A housewife.
7. Which phone number should the man dial?

A.77231059. B.77328905. C.77321095.

WrEs 7 BAR, BIEE 8 E oM,
8. What were they mainly talking about?

A.Mike was knocked down in the street.

B.Mike got injured in a match.

C.Mike had to stay in hospital. .
9. Who told the woman about Mikes stay in hospital?

A.Tom. B.Bob. C. The doctor.
WS 8 Bubhal, EAHE 10 2 11 8,
10. Where does the conversation take place?

A.lIn the street. B.At a hotel. C.On a train.

11, What can we infer from the conversation?




A.The man is quite rude.
B.The woman is a thief.
C.They are helping each other.
WrH 9 Btk FUESE 12 E 14 B,
12. What does the man do in the holidays?
‘A . Stay with his parents.
B.Have a further education.
C.Take a part-time job.
13. What can be leamed about the woman?
A.Her parents are rich.
B.She is a top student.
C. Her flat is free.
14. Why does the man live in a flat with two other boys?
At is cheap. B.It is large. C.It is quiet.
TS 10 Brdbkt, B 15 2 17 8
15. When will Hank visit Lisa?
A After finishing the report. B.After getting some food. C. After having a meeting.
16. What will take place at Bill’s house tomorrow?

A A party. B.A game. C. A dance.
17. Why is Hank going to Lisa’s house? '
A_To attend a dance. B.To get some food. C.To see sick Lisa.

Wrdfs 11 Biabdt, [ 18 £ 20 &,
18. Why did the man go to the bank?
A.He had to pay the fine there.
B.He wanted to get small change.
C.He intended to call the traffic police.
19. How did the man feel about the police officer’s final decision?
A. Happy. B.Sad. C.Angry.
20. What was the police officer’s attitude to the letter from the man?
A.She believed the man came across many misfortunes.
B. She took pity on the unlucky man who had a bad day.
C.She felt it funny that the man made up such a story.



4. TR R = R R

B—F Gts/MEEMELS 8,58 7.54)

WrRIE 5 BO R BBIHERA — /M8, MBF T4 K A B.C =T b % ) BRI,
AR EHMNAE . WEEBEBRXNEG, REH 10 B4 K5 E] R F &4 X/NEMFE T —/»
B, BBEXIE{E—E,

1. What has happened to the man?
A.He's broken his arm.
B.He’s hurt his arm.
C.He’s hurt himself.
2. Which of the following is TRUE according to the dialogue?
A.The man wants to go to the post office,
B.The man is going to his office.
C.The woman doesn’ t know how 1o go to the post office.
3. What is the name of the male speaker?

A.Wang Ming. B.Dong Jin, C.Not Known.
4. What’s the matter of the girls?
A.Her eyesight is worsening. B.She has broken her glasses.

C.Her eyes are hurt.
5. What did the man mean?

A.He could lend her an extra pen. B.He had lost her pen.

C.He could offer her a pencil.
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6. How long has the man stayed in Qingdao?

A.One week. B.Two weeks. L. About two weeks:
7. What does the man think of Qingdao?
A. Just so so. B. A good place. C. Nothing 10 say.

Wrsh 7 BUbORH IS 8 E 10 88,
8. Why did the speaker go to the airport this moming?

A.To see off Mr. Smith. B.To meet Mr. Smith. C.To meet a lady,
9. What can we conclude about the woman professor?

A.She is forgetful.  B.She is too old. C.5he is warm-hearted.
10. Who do you think the voice came from?
A. A neighbour, B.The professor. C.Mr. Smith.
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11. Where do the two speakers work?

A.In a plant in Chicago. B.In a large company. C.In an office in Atlanta.

12, Who has risen to a high position?
A.Jim. B.Marta. C.Both Jim and Marta.
13. Why does the woman want to go on with her work in the office?
A.She is fond of wnting notices.
B.She is still new in her position.
C.She hopes to keep in close touch with her superiors( £ #]).
WFEE 9 BRI SR 14 E 16 B,
14. Where is the man going?
A.To the station. B.To Washington. C.To America.
15. Where do you think they are having dialogue is?
A.At the ticket office. B.At the waiting room.
C. At the inquiry desk ([B]H#4L) .
16. How long will the man have to wait?
A.About half an hour. B.5 minutes. C.25 minutes.
WP 10 BT, FESS 17 E 20 4,
17. What is the passage mainly about?
A.The frightening situation in the world.
B.The growth and progress in the world.
C.The thing that human being should do.
18. What do many countries do to change the world?
A . They spend billions of dollars studying the world.
B.They do something new to protect the nature.
- C.They develop new ways of making things.
19. What do people do so much to the earth for?
A.To make the world a better place to live in.
B.Not to do harm to the world.
C.To kill some dangerous animals.
20. What will happen if people continue what they are doing?
A.The world will become better.
B. The whole world will be harmed.

C.Some countries will meet lots of problems.
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1. What is the man?
A.He is a policeman. B.He is a taxi driver. C.He is a postman.
2. What will the woman probably do?
A.Lock the computer lab later.
B. Leave with the man.
C.Show the man where the lab is.
3. What's the probable relationship between the man and ihe woman?
A .Doctor and patient.
B. Hushand and wife.
C.Manager and customer.
4. How will the man and the woman travei?

A.By bus. B.By airplane. C.By car.
5. When are Francie and Mike getting married?
A.In Auvgust. B.In June. C.In July.
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6. What had gone wrong in their house?

A.Their washing machine. B.The electricity. = C.The lights.
7. Which of the following is true?

A.Mr Smith did nothing for them at all,

B.Mr Smith asked too much money from them for the work.

C.Mr Smith did help them but couldn’t solve the problem oompletely. that day.
8. Why did the man think repairing the wires was too much?

A.Because he wanted to buy a car.

B.Because he doesn’t have a car.

C. Because their car needed repairing.
WL B, BB 9 E 11 B,



